
01

Nightstand
INSTALLATION GUIDE

N24001-18BROWN

Note: Before installation, please spread a soft mat or the foam inside the package on the ground to prevent damage.



02

PRECAUTIONS1

1. Assemble the unit in a roomy workspace, ideally near the intended location of  use, and on 
carpeting or a cardboard mat to prevent damage to your flooring and the product. Ensure that all 
included parts are accounted for.

2. Carefully review each step of  the assembly process. It is imperative that the instructions are 
followed in the precise order provided. Deviation from the sequence may lead to assembly 
challenges.

3. Be advised that this product includes small parts. Please keep them out of  the reach of  young 
children to prevent any potential hazards.

4. This product is intended for residential use only and is not suitable for commercial applications.

READ BEFORE BEGINNING ASSEMBLY

This product is packaged in
1 carton

Do Not use Power tools Allen key-Included Phillips screwdriver-Included



03

PACKAGE CONTENTS2

1

3

5 2

4

6

PART DESCRIPTION QUANTITY

Top1 1
Middle shelf2 1
Left Frame3 1
Right Frame4 1
Front Frame5 1
Bottom Frame6 1



04

HARDWARE CONTENTS 3

INSTALLATION /4  INSTALACIÓN

No apriete el tornillo
repetidamente durante este paso

Do not tighten the screw
repeatedly during this step

3
4
5
6

x 1
x 1
x 1
x 1
x 4A

5

3

6

4

A
A

A
A

PART DESCRIPTION QUANTITY

Hex socket screw  ( 1/4"x10mm )A 4
Hex socket screw ( 1/4"x28mm )B 4
Hex head straight shank screw ( Ø6x40mm ) C 4
Flat head screw ( #8x15mm )D 2
SocketE 1

NOT SHOWING ACTUAL SIZE

A B C D E

1 Parts needed
Piezas necesarias



INSTALLATION / INSTALACIÓN

05

4

1

B
B

B

B

1 x 1
x 4B

2
C

C
C

C

2 x 1
x 4C

2

3 Parts needed
Piezas necesarias

Parts needed
Piezas necesarias



4

PRODUCT DISPLAY / PRESENTACIÓN DEL PRODUCTO 5

INSTALLATION / INSTALACIÓN

x 1E
x 2D D

ED

06

23
.4

'' (
59

5m
m

)

18.7'' (4
77mm)

11.7'' (299mm)

4 Parts needed
Piezas necesarias



MAINTENANCE6

07

CARE AND MAINTENANCE OF THE CHARGING STATION
Nightstand is equipped with a convenient built-in charging station designed to provide power to 
your electronic devices. To ensure the longevity and optimal performance of  this feature, please 
follow these care and maintenance guidelines:

Regular Cleaning: Gently wipe the charging station area with a soft, dry cloth to remove dust and 
debris. Avoid using harsh chemicals or abrasive materials that may damage the surface.

Avoid Water Exposure: Do not expose the charging station to water or liquids. If  any spills occur, 
immediately unplug the table and wipe the area dry to prevent any electrical issues.

Proper Cable Management: Keep cords organized and prevent them from tangling or obstructing 
the charging ports.

Temperature Control: Ensure that the nightstand is placed in an area with moderate temperatures 
and away from direct sunlight or heat sources, as extreme temperatures can affect the charging 
efficiency and the table's material.

Avoid Overloading: Do not plug in more devices than the charging station is rated to handle. Over-
loading can lead to overheating and potential damage to the charging components.

Inspect for Damage: Regularly inspect the charging station and its cables for any signs of  wear or 
damage. If  you notice any issues, discontinue use and contact customer support for assistance.

Use Approved Adapters: Only use charging cables and adapters that are compatible with the 
charging station and meet safety standards.

Unplug When Not in Use: To conserve energy and reduce the risk of  electrical issues, unplug the 
charging station when it is not in use for extended periods.

Avoid Direct Impact: Keep the nightstand away from high traffic areas where it may be subject to 
accidental bumps or impacts, which could damage the charging station.



ONE-YEAR LIMITED WARRANTY
This product is warranted to the original purchaser. If  there is a failure in this unit due to defects in 
materials or workmanship, the manufacturer will repair or replace this item at our discretion without 
charge. Warranty is void if  the product has been assembled incorrectly, misused, or abused by 
overloading, altered in any way or damaged due to accident. This warranty is not transferable and 
does not cover chipping, flaking, scratches, rust, dents, or other damages to the surfaces of  this 
product. The responsibility of  the manufacturer is limited to the repair or replacement of  this 
product. The manufacturer is not responsible for consequential, incidental, or other damages or 
losses resulting from product failure.

DELUXE LIVING:
If  you have any questions or concerns, please stop and contact us immediately. 
After Sales Customer Service:
CustomerService@Deluxelivinghome.com
1-866-358-9584 (1-866-DLUX-LVG)
Visit our website for more information: www.deluxelivinghome.com

08

WARRANTY7



01

Mesita de noche
GUÍA DE INSTALACIÓN

N24001-18MARRÓN

Nota: Antes de la instalación, extienda una alfombra suave o la espuma dentro del paquete en el suelo para evitar dañar.



02

PRECAUCIONES1

1. Ensamble la unidad en un espacio de trabajo amplio, idealmente cerca del lugar de uso 
previsto, y sobre una alfombra o una estera de cartón para evitar dañar el piso y el producto. 
Asegúrese de tener en cuenta todas las piezas incluidas.

2. Revise cuidadosamente cada paso del proceso de ensamblaje. Es imperativo que se sigan 
las instrucciones en el orden preciso proporcionado. Desviarse de la secuencia puede generar 
problemas de ensamblaje.

3. Tenga en cuenta que este producto incluye piezas pequeñas. Manténgalas fuera del alcance 
de los niños pequeños para evitar posibles peligros.

4. Este producto está destinado únicamente para uso residencial y no es adecuado para 
aplicaciones comerciales.

LEER ANTES DE COMENZAR EL MONTAJE

Este producto está empaquetado en 
1 caja

No utilice herramientas eléctricas Llave Allen-Incluido Destornillador Phillips-Incluido



03

CONTENIDO DEL PAQUETE2

1

3

5 2

4

6

PARTE DESCRIPCIÓN CANTIDAD

Arriba1 1
Estante del medio2 1
Marco izquierdo3 1
Marco derecho4 1
Marco frontal5 1
Marco inferior6 1



04

CONTENIDO DEL HARDWARE3

NO MUESTRA EL TAMAÑO REAL

PARTE DESCRIPCIÓN CANTIDAD

Tornillo de cabeza hexagonal ( 1/4"x10mm )A 4
Tornillo de cabeza hexagonal ( 1/4"x28mm )B 4
Tornillo de vástago recto con cabeza hexagonal ( Ø6x40mm ) C 4
Tornillo de cabeza plana ( #8x15mm )D 2
EnchufeE 1

A B C D E



MANTENIMIENTO4

05

CUIDADO Y MANTENIMIENTO DE LA ESTACIÓN DE CARGA
La mesita de noche está equipada con una cómoda estación de carga integrada diseñada para 
proporcionar energía a sus dispositivos electrónicos. Para garantizar la longevidad y el 
rendimiento óptimo de esta función, siga estas pautas de cuidado y mantenimiento:

Limpieza regular: limpie suavemente el área de la estación de carga con un paño suave y seco 
para eliminar el polvo y los residuos. Evite usar productos químicos agresivos o materiales abra-
sivos que puedan dañar la superficie.

Evite la exposición al agua: no exponga la estación de carga al agua ni a líquidos. Si se derrama 
algo, desenchufe inmediatamente la mesa y seque el área para evitar problemas eléctricos.

Administración adecuada de los cables: mantenga los cables organizados y evite que se enre-
den u obstruyan los puertos de carga.

Control de temperatura: asegúrese de que la mesita de noche esté ubicada en un área con 
temperaturas moderadas y lejos de la luz solar directa o fuentes de calor, ya que las temperatu-
ras extremas pueden afectar la eficiencia de carga y el material de la mesa.

Evite la sobrecarga: no conecte más dispositivos de los que la estación de carga puede soportar. 
La sobrecarga puede provocar un sobrecalentamiento y posibles daños a los componentes de 
carga.

Inspeccione si hay daños: inspeccione regularmente la estación de carga y sus cables para 
detectar signos de desgaste o daños. Si nota algún problema, deje de usarla y comuníquese con 
el servicio de atención al cliente para obtener ayuda.

Use adaptadores aprobados: use solo cables y adaptadores de carga que sean compatibles con 
la estación de carga y que cumplan con las normas de seguridad.

Desconecte la estación de carga cuando no la use: para ahorrar energía y reducir el riesgo de 
problemas eléctricos, desenchufe la estación de carga cuando no la use durante períodos 
prolongados.

Evite los impactos directos: mantenga la mesita de noche alejada de áreas de mucho tránsito 
donde pueda estar sujeta a golpes o impactos accidentales, lo que podría dañar la estación de 
carga.



06

GARANTÍA5

GARANTÍA LIMITADA DE UN AÑO
Este producto está garantizado para el comprador original. Si se produce una falla en esta unidad 
debido a defectos en los materiales o en la mano de obra, el fabricante reparará o reemplazará 
este artículo a nuestra discreción sin cargo. La garantía quedará anulada si el producto se ha 
ensamblado incorrectamente, se ha usado incorrectamente o se ha abusado de él por sobrecar-
ga, se ha alterado de alguna manera o se ha dañado debido a un accidente. Esta garantía no es 
transferible y no cubre astillado, descascarillado, rayones, óxido, abolladuras u otros daños a las 
superficies de este producto. La responsabilidad del fabricante se limita a la reparación o el 
reemplazo de este producto. El fabricante no es responsable de daños o pérdidas consecuentes, 
incidentales o de otro tipo que resulten de una falla del producto.

DELUXE LIVING:
Si tiene alguna pregunta o inquietud, por favor detenga y contáctenos inmediatamente.
Servicio de Atención al Cliente Postventa:
CustomerService@Deluxelivinghome.com
1-866-358-9584 (1-866-DLUX-LVG)
Visite nuestro sitio web para obtener más información: www.deluxelivinghome.com


